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Q1: Simplify the following algebraic fraction: 

i) 
3𝑦−1

4
− 

2𝑦−3

6
 

ii) 
3𝑥

8
− 

𝑥+2

8
 

Q2: Solve the following equation: 

i) 
6𝑥+1

7
−  

2𝑦−7 

3
= 4 

ii) 
3𝑥+4

2
= 𝑥 − 2 

iii) 
𝑝+2

4
=  

2𝑝−3

5
 

iv) 3(x +4)  - 5(x - 1) = 19 

Q3:  If a = 2, b = 3 and c = 1, find the value of x,  x = 
5𝑎−𝑐

𝑏− 𝑐2
 

Q4:  What does ‘x’ stands for it:     7x – 14 = 19 – 4x 

Q5: What does ‘x’ stands for it:     18 + 3x = -3  

Q6:  If A = P + 
𝑃𝑅𝑇

100
,  Find A when P = 5000, R = 5 & T = 3 

Q7:  If y + b = 
𝑎𝑦+𝑐

𝑏
,  find c when y = 12, a = 14 and b = 3. 

 




